Soustraction de Nombres Entiers (G)

Utilisez la stratégie d’'un nombre entier pour trouver chaque question.

7-(-59) = 57 - 48 = (-23)-92 =
93 - (-72) = (-84) - 58 = (-17) - 64 =
85 - (-86) = 1-(-31) = (-56) - 90 =
93 - (-9) = 24 - (-62) = 84 - (-17) =
78 -82 = 78 -20 = 51 - (-38) =
(-76) - 8 = 11-61= 81-81=

62 - (-67) = (-4) - (-57) = 72-19 =
(-88) - 80 = 93-95 = (-51) - (-52) =
10 - (-75) = (-27) - (-69) = (-90) - (-32) =
(-29) - (-78) = (-57) - (-39) = 28-34 =
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Soustraction de Nombres Entiers (G) Réponses

Utilisez la stratégie d’'un nombre entier pour trouver chaque question.

7 - (-59) =
= 66

93 - (-72) =
=165

85 - (-86) =
=171

93 -(-9) =
=102

78 -82 =
- (4)

(-76) - 8 =
= (-84)

62 - (-67) =
=129

(-88) - 80 =
= (-168)

10 - (-75) =
= 85

(-29) - (-78) =
= 49

57 -48 =
=9

(-84)-58 =
= (-142)

1-(-31)=
= 32

24 - (-62) =
= 86

78-20=
=58

11-61=
=(-50)

(-4) - (-57) =
=53

93-95=
- (-2)

(-27) - (-69) =
= 42

(-57) - (-39) =
= (-18)

(-23)-92 =
= (-115)

(-17) - 64 =
= (-81)

(-56) - 90 =
= (-146)

84 - (-17) =
=101

51 - (-38) =
=89

81-81=
=0

72-19 =
=53

(-51) - (-52) =
=1

(-90) - (-32) =
= (-58)

28-34=
= (-6)
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